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Table 1. Product yields of ethylene trimerization runs. 

exp # C6 (g) C10 (g) PE (g) total yield (g) % C6 to C10 

1 22.9 0.7 0.3 23.9 1.9 
2 33.6 1.1 1.1 35.8 1.9 
3 20.3 0.7 1.2 22.2 2.1 
4 16.9 0.7 0.8 18.4 2.4 
5 14.7 0.5 1.2 16.5 2.2 
6 24.1 1.9 1.6 27.6 4.6 
7 19.7 0.8 1.3 21.8 2.4 
8 11.7 0.4 1.5 13.5 1.9 
9 20.7 1.6 3.9 26.3 4.5 

10 7.8 0.1 2.1 10.1 1.1 
11 4.1 0.1 3.2 7.4 1.6 
12 32.1 1.9 0.3 34.2 3.4 
13 30.0 1.6 0.4 31.9 3.1 
14 26.1 1.7 0.8 28.6 3.7 
15 18.6 1.2 0.5 20.3 3.8 
16 25.0 1.6 0.6 27.2 3.7 
17 31.1 2.1 0.7 33.9 3.9 
18 20.2 1.0 2.2 23.4 2.9 
19 21.7 1.6 1.4 24.7 4.2 
20 16.2 0.7 2.3 19.2 2.6 

 

Parity plots for catalyst 1 
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Figure 1. Parity plot for experiment 1. 
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y = 0.9611x - 1E-05
R2 = 0.9819
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Figure 2. Parity plot for experiment 2. 
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Figure 3. Parity plot for experiment 3. 
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y = 1.1542x + 5E-06
R2 = 0.9663

0.0E+00

2.0E-04

4.0E-04

6.0E-04

8.0E-04

1.0E-03

0.0E+00 2.0E-04 4.0E-04 6.0E-04 8.0E-04 1.0E-03

Measured d[C6]/dt

C
al

cu
la

te
d 

d
[C

6]
/d

t

 

Figure 4. Parity plot for experiment 4. 
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Figure 5. Parity plot for experiment 5. 
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Figure 6. Parity plot for experiment 6. 
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Figure 7. Parity plot for experiment 7. 
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y = 1.0257x + 9E-06
R2 = 0.9735

0.0E+00

2.0E-04

4.0E-04

6.0E-04

0.0E+00 2.0E-04 4.0E-04 6.0E-04

Measured d[C6]/dt

C
al

cu
la

te
d 

d
[C

6]
/d

t

 

Figure 8. Parity plot for experiment 8. 
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Figure 9. Parity plot for experiment 9. 
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y = 1.1423x + 2E-06
R2 = 0.92
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Figure 10. Parity plot for experiment 10. 
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Figure 11. Parity plot for experiment 11. 

 

Parity plots for catalyst 2 
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Figure 12. Parity plot for experiment 12. 
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Figure 13. Parity plot for experiment 13. 
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R2 = 0.9867
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Figure 14. Parity plot for experiment 14. 
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Figure 15. Parity plot for experiment 15. 
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Figure 16. Parity plot for experiment 16. 
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Figure 17. Parity plot for experiment 17. 
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Figure 18. Parity plot for experiment 18. 
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Figure 19. Parity plot for experiment 18 after applying a reduced amount of catalyst. 
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Figure 20. Parity plot for experiment 19. 
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Figure 21. Parity plot for experiment 20. 

 


